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Negative acceleration, also known as s — gL = .
. e —O

deceleration or retardation, refers to the rate =5 —EXE§1§ /_“l

at which an object's velocity decreases over

time. It indicates that the object is slowing

down. In other words, the object is moving in " Ifacaris |n|t|aIIy moving
is reducing its speed. forward and then starts to
slow down, its acceleration

Acceleration is a vector quantity, which

means it has both magnitude (amount) and would be neg ative

direction. When the acceleration is negative, b ol . . h
it means that the object is experiencing a ecause It Is movi ng In the
force or undergoing a change in motion that opposite direction Of itS
opposes its current direction of motion. For o .

example, if a car is initially moving forward initial Ve|0C|ty_"

and then starts to slow downi its acceleration
would be negative because it is moving in the

opposite direction of its initial velocity. E%; 'ﬂ% EQ gz E % J/\/{ J: ;\z ?

Negative acceleration can occur due

to various factors, such as friction, air
resistance, or the application of brakes,
which can result in a decrease in speed or

a change in the direction of motion. It is
important to note that negative acceleration
does not always mean that the object is
moving backward; it simply means that it is
slowing down or changing its velocity in the
opposite direction.
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